
 

ASSEMBLY INSTRUCTIONS: 

S/2 SLING DINING CHAIRS 

SKU# 68845704 

 
COMPONENTS 

PART FIGURE DESCRIPTION QTY 

A 
 

Right arm 1 

B 
 

Left arm 1 

C 
 

Seat boat 1 

D 
 

Chair back 1 



 

E 
 

Joint pipe 1 

F  M6*35mm BOLT 10 

G  Allen wrench 1 

 

 

STEP  

1 

Place the seat boat (C) on A flat, protected surface. Connect 

the Right arm (A) and Chair back (D) to the seat boat (C) 

using M6*35mm bolt with washer (F).Tighten one hand. 

Tighten all bolts with Allen wrench (G).Don't overtighten. 

Excessive tightening may cause peeling and cleaning of 

bolts 

 

 

 



 

2 

Place the seat boat (C) on A flat, protected surface. Connect 

the left arm (B) and Chair back (D) to the seat boat (C) using 

M6*35mm bolt with washer (F).Tighten one hand. 

Tighten all bolts with Allen wrench (G).Don't overtighten. 

Excessive tightening may cause peeling and cleaning of 

bolts 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

3 

Place the chair on a flat, protected surface. Connect Joint 

pipe (E) with M6*35mm bolt and washer (F) to left arm (B) 

and right arm (A), tighten on one hand. 

Tighten all bolts with Allen wrench (G).Don't overtighten. 

Excessive tightening may cause peeling and cleaning of 

bolts 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

4 
Place the Seat in the upright position.  

Assembly is Completed. 

 

 

 

 

 

Cleaning and Maintenance 

 

●Clean with mild soap and water, rinse thoroughly, and dry completely.  

Do not use bleach, acid, or other solvents on this item 

●We recommend the use of furniture covers to protect this item when not in use. 

●Inspect and tighten all bolts on a regular basis to ensure proper performance and 

safety. 

●In order to prolong the life and beauty of your item，we recommend storing it in a 

dry and protected area during off season periods.  

 

 



 

DIRECTIVES D’ASSEMBLAGE : 

ENSEMBLE DE 2 CHAISES DE SALLE À MANGER 

No d’UGS 68845704 

 
COMPOSANTES 

PIÈCE FIGURE DESCRIPTION QTÉ 

A 
 

Bras droit 1 

B 
 

Bras gauche 1 

C 
 

Siège 1 

D 
 

Dossier 1 



 

E 
 

Traverse 1 

F  BOULON M6 x 35 mm 10 

G  Clé hexagonale 1 

 

 

ÉTAPE  

1 

Poser le siège (C) sur une surface plate et protégée. Fixer le 

bras droit (A) et le dossier (D) au siège (C) à l’aide d’un 

boulon M6 x 35 mm avec rondelle (F) et serrer à la main. 

Serrer tous les boulons à l’aide d’une clé hexagonale (G). 

Ne pas trop serrer. Un serrage excessif peut causer 

l’écaillage du revêtement et nécessiter le nettoyage des 

boulons. 

 

 

 



 

2 

Poser le siège (C) sur une surface plate et protégée. Fixer le 

bras gauche (B) et le dossier (D) au siège (C) à l’aide d’un 

boulon M6 x 35 mm avec rondelle (F) et serrer à la main. 

Serrer tous les boulons à l’aide d’une clé hexagonale (G). 

Ne pas trop serrer. Un serrage excessif peut causer 

l’écaillage du revêtement et nécessiter le nettoyage des 

boulons. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

3 

Poser la chaise sur une surface plate et protégée. Fixer la 

traverse (E) avec le boulon M6 x 35 mm et la rondelle (F) au 

bras gauche (B) et au bras droit (A), puis serrer d’une main. 

Serrer tous les boulons à l’aide d’une clé hexagonale (G). 

Ne pas trop serrer. Un serrage excessif peut causer 

l’écaillage du revêtement et nécessiter le nettoyage des 

boulons. 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

4 
Placer le siège en position verticale.  

L’assemblage est terminé. 

 

 

 

 

Nettoyage et entretien 

 

● Nettoyer avec de l’eau et du savon doux, bien rincer et sécher complètement. 

Ne pas utiliser de javellisant, de détergent acide ou d’autres solvants sur cet 

article. 

● Nous vous recommandons d’utiliser des housses à meubles pour protéger 

cet article entre les utilisations. 

● Vérifier l’état de tous les boulons et les serrer régulièrement pour garantir le 

bon fonctionnement et l’aspect sécuritaire de l’article. 

● Afin de prolonger la durée et la belle apparence de votre article, nous vous 

recommandons de le ranger dans un endroit sec et protégé pendant les 

périodes hors saison.  

 



 

NSTRUCCIONES DE ENSAMBLAJE: 

SET DE 2 SILLAS PARA COMEDOR 

SKU# 68845704 

 
COMPONENTES 

PARTE IMAGEN DESCRIPCIÓN CANTIDAD 

A 
 

Brazo derecho 1 

B 
 

Brazo izquierdo 1 

C 
 

Asiento 1 

D 
 

Respaldo 1 



 

E 
 

Tubo de unión 1 

F  PERNO M6*35mm  10 

G  Llave Allen 1 

 

 

PASO  

1 

Coloque el asiento (C) sobre una superficie plana y 

protegida. Una el brazo derecho (A) y el respaldo (D) al 

asiento (C) con pernos y rondanas M6*35mm (F). Tense con 

la mano. 

Tense todos los pernos con la llave Allen (G). No los tense 

de más. Tensarlos de más podría ocasionar que se barran 

los pernos. 

 

 

 



 

2 

Coloque el asiento (C) sobre una superficie plana y 

protegida. Una el brazo izquierdo (C) y el respaldo (D) al 

asiento (C) con pernos y rondanas M6*35mm (F). Tense con 

la mano. 

Tense todos los pernos con la llave Allen (G). No los tense 

de más. Tensarlos de más podría ocasionar que se barran 

los pernos. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

3 

Coloque la silla (A) sobre una superficie plana y protegida. 

Una el tubo de unión (E) con pernos y rondanas M6*35mm 

(F) al brazo izquierdo (B) y al brazo derecho (A). Tense con 

la mano. 

Tense todos los pernos con la llave Allen (G). No los tense 

de más. Tensarlos de más podría ocasionar que se barran 

los pernos. 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

4 
Coloque la silla en posición vertical.  

Ha finalizado el ensamblaje. 

 

 

 

 

 

Limpieza y mantenimiento 

 

●Limpie con agua y jabón suave, enjuague y seque por completo.  

No use blanqueador, ácido u otros solventes para limpiar este artículo. 

●Recomendamos el uso de fundas para proteger el artículo cuando no esté en 

uso. 

●Revise y tense periódicamente todos los pernos para garantizar un correcto 

desempeño y seguridad. 

●Para prolongar la vida y estética del artículo, recomendamos guardarlo en un 

área seca y protegida durante largos periodos sin uso.  

 



 

 

 

 

 

 


